Math 251: Derivative Proficiency March 7, 2024

Name: KC&/«

* There are 12 points possible on this proficiency, one point per problem. No partial credit
will be given.

* You have one hour to complete this proficiency.
* No aids (book, calculator, etc.) are permitted.
* You do not need to simplify your expressions.

* Your final answers must start with f’(x) =, % =, or similar.

Draw a box around your final answer. |

1. [12 points] Compute the derivatives of the following functions.
a. f(x) =4sin"!(3x%)
[ Ll 2z
fitd = s
1-G4)

b. f(x) = 3sin(x)cos(x)

]CI(") = g(cux vcosx 1t Siax (~:[ax))

Vi 5 V3
c.f(x)=?—$+7
-1
flz g~z e =508
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_In(x)
~ tan(x)

d. f(x)

| 2
X * tanx = Lnx * sec’x

+anz)(

f) -

e. y=3csc(e")

= ~cicle) @t (¢

Q..
&

f. y=6"—logg(x)

" [
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g.y= (xo'2 ¥ SCC(X)) T

-,
i % (P aceend) + loa%% secx o)

x|

cos(7/x)
)

h. f(x) =

fos - s ) - eolE) e
(x*)

I f(x) = (x4+)lc+65)3

{/(x) = g(x“ +‘;;+eg)z’ (L’Xg 'X'z)
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j. f(x)=ln(J;2—2i) = 2lax ' =¥kal2 ~ dLox

£6): 241 -3

wi~—

k. f(x)= \38/1% = sia(5) '(sir\x)-

f(x) o - cin(5) - (.nnx) (COIK)

I. Find Z—i for the equation ¢* — ¢’ = 2sin(xy). You must solve for Z—y
X

c’[C 'ey] dx [2“"("7)] 2 e "BY Zcor(xY C,*x-’)
‘:> g Zco-“(xy)y = e Ey "‘Zc.,;(xy)xoﬁx‘

% = Zgos‘()‘x g _;iy
e +’ Zcos (nyK :
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